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SAMPLE QUESTIONS

MATHEMATICS
L Which of the following stutements s moe?
P M ST | 1 e 7.5
M F<3<TI*T B) I =9°7
i 8 7 3
© F<fh<g<ir ) 3=t ]
L Given that Wj-ﬂ: :IEE find the valuz of P
(Al 4 By -2
cy 2 D} 5

3. The pictogram shows the number of visions to an exhibitions in a particalar week. The number of visitors reconbed

after Wednesday is: Moty @@ @@
Tuesday e

k'.h_r:’g'n'pmsmusb Vs Wedsesday @@@
ot B4 e |GOESOD
Friduy Le88

4. The gam of loss percent when nocarmsge, which ooest Bs. 4000, is-sobd for Ba. 3000 is:

(A 109 loss (B) 2% toss

() 5% profi (1) nome of these

3. Which of the folkowing number 1= divisible by 117
(A} 3116363 By 901351

(C) ¥.750322 (D) nane of these
B A fruit seller sells 10 applies for a rupee and gaing 0%, Huow ooy spples be bought for a mipes?

(A) 14 By 16
() 15 (o) 13
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SAMPLE QUESTIONS

ENGLISH

Read coch sentepces to find out the grammatical ermor in i

1. (A) If you sre pood/ (B) o people, vou will be! (C) treated well! (I by themselves.

2 (A) He addressed people’ (B) and tried lns best/' (C) 1o comvinee them that! () his decisions were correct.

In each of the followang questions, six words are grven which are denoted by 1, 2, 3, 4, 5 and 6. By wang pll the
six words, cach only once, frame o meanmgtul ond grommatically correct sentence. The comect order of the
worls is the answer, Choose from the five altematives the ong baving the correct onder of words and mark 1t as

the answer,

3 L. owtset 2 a
1 repeated 4 s
5. the b
(A1 FDEARC H. BEAEDC
(€) FDBEAC () BEACFD
4 L yom 2
3 are 4. office
5. the B oot
{A) BEDACF B. "AFCBED
() CAFBED i ACHBFED

Pick out the most effective word/sentence from the given wornds/sentences to fill in the blanks to make the sentence
meanmgfully complete.

5. Thepolice used tear gas to... the violent mob,
(A} disperse (B} confuse
(C) diffuse (D) drive
fi.  Thetwmns looked so. . thnt we could not distmguisi between them,
(A) smun (B} handsome
(C) different (D) like
In ench questions below FOUR words A, B, C, ind I nre given. one of which MAY be WRONGLY SPELT.

Find ou that word, the spelling of which 13 WRONG. The number of the word is the answer.

7. (A} enormous (B} pilgrimage
{C) spontancous (DY) temparnment
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SAMPLE QUESTIONS

GCENERAL AWARNESS

1. Indiss Air Force has boen divided in o

(A} thrae commonds {B) Six commuands
(C) seven commanids (D) five communds

Il.l

Thie largest Indisn state i Eoms of area is

(A} Rajusthas (B) Urar Pradesh
(C) Pradesh Andhre () Kamutnka

X Which one of the foflowing states produces the targest quantity of hae?

[A) Wast Benasl {B) Orssa
(C) Tomul Nodu 10y Andhra Pradesh

4. Kuthakals 15 a classical dance from:

{A) Orissa (B) Tamil nadu
(C) Manipur {17} Kerolo

5 Inwhich gare the coar is not rectingular?

{A) Foothall (B Hasketholl
(T Valleyball {61y Crickeet

fi. In e canhs’s simosphere, which gas the maximon contents?

(A} Dxypen {B) Mitrogen
(T} Hydrogen {0 Carbon dioxide

7. Finaneial year in Indis begins on -

(A} May ] (B) Jan. |
() April | () Now, |
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